+ a

@O UT) TONS=>6.0 w&ﬁ&&f&%fz unction.

I. [For each quadratic ‘Func+\on belo
aden"r\{:tj the F‘o\&ougma

1) 'H'\e direction in which the parabola
ens.
“n}) he coordinagtes of the vertex
i) the cquetion of the axis of aymme%-r\\j‘

o) FWX)= (x-3)*+7

1) O peENs qurd
) 'Lfer-%—cx (3,7)
HUAXIS OFS\;\T\mC‘HH - x=3



b) mX)=-2(x+7)*3

1.3 ens Downudard
‘)5 ertex (-717,-3) :
i) AXYS of éymmc-}‘rtj o X=-7]

c) 3(7() = T(x-2)*9

1) Opens "Upward
) Uertex (.2 -9)
) AXIS of é\;mmeﬁr\j xX=2

d) n&x)«i._(x—‘rk)ZHQ
ens 'U mord

n) ectex (=\,10)
1) Axis of \S\,mmeﬁ-rj xX=-4



e) rix)= =2x*+5S
r(x)=-2(x=-0)+5S

1) Opens Downward
ii) Vertex (0,5)
i) AXIS of Gymmc‘ﬂ"rj s X=0



2. Bredict which of +he -Fonowmg functions

have a minimum value. Also gredict +he

number of x-intercepts that each
redichons

{Q¢C function has. “Test your
Egncﬁrg:‘ch{ng +he g aph of each
Q) Flx)= -x*+3 SKetch s H
f(x)= -(x-0)*+3
— i

Vertex : (0,3)

> Opens Downward
Ly & X-intecrcepts

) vid
=‘fﬂ‘10.m'rnum
SKexeh? 3
etch?
A mex)= (x+4)*+ 2 v
Jertex | (-4,2)

Ls Opehs 'Lrpwarcl’-"*’ Hinimum
Ly No X-infecrcepts



3. Determine the value of a, IF pom+ -1,4)
IS on +he qQuadratic -Punchon

fx)= a (x+2)*+"]

(1.5} }i’-—- a (x+2)*+ 7
X\ Y o= ql-1+2)"+7
4= qg(1)*+7
4 = a()+7
4-7 = |q
3 = la

l !
-3=



4. Which equation represents the 8voph?
Jastity Your decision.

6 9) % Opens Downward

; /\ ¥ % Uert+ex(3,5)
1/ \ ¢ %*%%x c=-1. (0o,-1)

A5 e
.2 (0, _]) L

| o N - o N
A. Y %z_fx+5 cin %(x3)+5‘

B. Y= -(x-3)*+5 D. ys= %_Q:x—s)% 5



b. MQ‘\*C\\ each equation with its
Qorrespondins graph. Explain your
re:qsomna .

Match: <) Y= -x2*-3

Uertex (0,-3) ; Opens Downward
i) o [ Motchs d) 'tj= (x-4)*+ 2

8 | /

6
4
2




i ) Y, Matcht b) —(x+2)*-2
-6 ,,\\—2 N
'!0

Uertex (-4,72) ; Opens Downward

iv) o] Matche a) Y= (x-3)*
8 /
5—5'2
AN,
R

Vertex(3,0): Opens ’Ubwc;v&



3. WQr\ecn and @ndfcei are both G+ tall,
and they play “on *he Same college
volleybdll +€am . In a game, (andice
Sct gp MHarleen with arn outside high
ball for an atrack bhit Using a vide
of the game, +heir coach d¥fermined
chﬁ‘ e helght of the ball above the
ColarT 5. 40 fee ,On 1its path From (andice
+o ﬂgleen could be defined ba +He

uncmon
hx)=-0.03(%x-2)*+%
where % s the horizontal distance,

Mmeasured in feet, from one edge
of the court.



a) Determine the axis of symmetry
of +he paratola.

Vertex (9,3%) uﬂxisif E&%gmmdrg

b) H&rleen hi+ +he ba!l ot ts hﬁi‘.cs'l‘
point. How high above the cslict
was +the ball¥ when She b+ 1+°?

“The ball was ®F+ above Hhe court
when she hit i+



d) How ‘n\Sh was ¥he ball when (andice
Set + .51 f she was 2+ Feom The
edse oF +he court ?

h=0.053(x-9)" +%
h= —0.03(2-9)*+8%
hC —-0.03(=17)*+ R

-0.03 (49)+%
N=~-LNT+E
h= 6.53 £+
The ball Wwas 6535+ high when (andice

set i+

d) Stote the range for +he boll’s path
between (bndite and erccn

in| 65<h= 8,NERY
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